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Jl 600,000
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= 61,753,000
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= 1,530,775
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[ 11,906,000
= 1,530,775
01 AR A =2 £ 13,436,775 0 13,436,775
o&dd LA At 13,436,775
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01 XN BSELS 409,000 240,300 168,700
O3S = &Y UL 243 XA 409,000
fel e =4 140,000 140,000
308 AXIHSO0IA 140,000 140,000
01 HASHHBAEEXS 140,000 140,000
B3XNG AKX+ =4 140,000
SAAE e 250,000 250,000 0
403 AXIEHHSAH=201H 250,000 250,000
01 AXIEHM A= 2 £ 250,000 250,000
HFXS AL A=A 250,000
S g8 e 5,000 5,465,028 Ab,460,028
XS g0 N2 5,000 5,000 0
201 Ler23| 2,000 2,000 0
01 At2teltl 2,000 2,000 0
SIS N = 2,000
202 048l 3,000 3,000
01 2L A 3,000 3,000
OBZ XY MM g8 3,000
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= 994,200
< 301,985
datse Jlgtxy 737,705 907,000 A169,29
= 602,000
S 135,705
H3XNS WFESEH =& 7,000 7,000 0
201 et 3| 2,000 2,000
01 At 2|l 2,000 2,000
OBZXNS LWFEH g2 =M 2,000
202 04| 5,000 5,000
01 =LH LI 5,000 5,000
OIS LREY d2 =4 5,000
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201 fer= 3| 111,660 111,660
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OFA A& 22| 29 11,660
02 35244l 100,000 0 100,000
OFAL Al 22| 29 100,000
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SSOIEF=0XA XY¥Eo3 2d(=10)(8E) 6,800 6,890 A
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= 4,600
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